10 by 4 Tenner Grid Puzzles

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

171412209 18] 8 10|16 |11

107 |14 8 |18 |21 |15| 8 |16 |18

161215 (1711912 |17 |14 |13 |10
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Answers

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

3167921 ]4]8 0
8 |5 6|79 /304

63450812 9
1711412120 9 |18| 8 [10|16 |11
112465870 9
8 | 5 0 63241
11013 /241|756 8
10/ 7 [14| 8 |18/21|15|8 1618
5010817 91213 |4
6 211 (3]4]8]5]9

5(4(3/819 0171

16125 [17]19 1217 |14 |13 |10
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